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MATH

3,508,020

1,976

629,448

596

704,278

(3 x 60) + 22 = 202

(8 x 60) + 9 = 489

8,502

4,090

(5 x 360) + (0 x 20) + 0 = 1800
(9 x 7200) + (3 x 360) + 18 = 65, 893
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2k.

3=23
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4 x5)+
29 +26 421 4 22 4+ 2 = 598
(7 x 123) + (10 x 122) + 2 = 13,538

. (3x8M)+(2x8%)+(3x8 1)+ (5x872) = 26.453125
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102 ExaM #1 KEy (FaLL 2010)

197 = (5 x 62) + (2 x 6) + 5 = 525¢

478 = (3 x 12%) 4+ (3 x 121) + 10 = 33A19
(1x16%)4+(6x16%)+(15x16)+15 = 16FF16
(2%x5%)+ (4 x5 +3+ (1 x571) = 243.15
(1x8 1+ (3x82)+(1x83) =0.131g

13516

D91Cy6

1000011002

32A012

We get 11665 + 423503 = 435363
We get 330E16 + 51B01g = 84BEq4

Quotient is 435, with no remainder.
457, R1
45.1111... = 45.17 (see solution to #7a in sup-

plementary assignment)

6d. 163.74g (see solution to #7c¢ in supplementary
assignment)
7a. 0010 0101 1011 01119 = 25B716

7b.

4C9616 = 0100 1100 1001 01102



